Time : 3 Hours A Marks : 200
Instructions :

(i) Each question carries one mark.

(& @a%léo ¥ 26?602)_ o do.

(i1)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS aVYS (D (D adg &S ¢35t DO TS BIrErd B0y D)8V &7
2r00W woB 1, 2, 3 B8 4 T ad S OMR Jreed H(E008° (9418 Do 040DS
Sowg o DEE /el wrd rowod D) GHBVrA0D JoDB T,

1. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B %0005 C e gﬂ’oweeﬁ% &) éﬁsgﬁoe)éo 2.8 00 $. 6,00,000 Sndo S0
aT0d. A oSt é&igﬂ% 2D S Bodo B Frons® ¢&gh8 adyd Inends 2885 Y
T 56360‘5:)3 B Q@owoé‘sb 656553 BW)D Bo‘oeéo C Q”oooé*’i) éﬁsgﬁg BW)S Boeeds
Todo Té. A g*’oooé% 50 %006, B (g“’oooef’ 75 Ho0&, C gﬁowé's 100 %008 ﬁﬁsgﬁowo'&g
A cg'f’oooeS{6 %éi a¥ &gn3 ai)gé.aﬁéﬁ Qo0& ? |

(1) &-. 1,500 (2) & 3,000 (3) 8. 4,500 (4) J&o. 6,000

2. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 7 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 S7roeQ) (HBrB0T (EHo0d® a8 $g8 a8 dod 40 JDared I&AS SShard,

5
@SS WAOL Srdost 7 Sod &rdo (DArBomrdd dodowrdr. g SdE =80

(1) 9 8ds/K0e (2) 6 8%/f0e  (3) 10 8ds/foe  (4) 8 8do/fos
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1
3. A cyclist reaches a certain place in 6 hours. If he reduces his speed by gth, he goes 5 km

less in the same time. His speed (in km/hour)

af $g8 8T (HXrBoD, wf (TFTI) 6 fowed® Jdord. & Hg8 ©dd Sy
& Hods SN0WK0T, T DHTH0S® wdlo 5 8o &S (HASrBIE. wdd Tdo
(8a/K0& %)

1 24l 34l 43§
(1 5 2) 4y () 45 @ 3%

4. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Tody By $g8TE 64" 23 BHo& (dobrddoTryom. 2878y BTeoo edH 100
N6 God ©d 28I HHEES 10 DELS' oEE, 287 8) DTeoo T o

(Fo&& §e3’8§30é3§§e5’8)
(1) 84 2) 72 (3) 36 (4) 32

5. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A %8050 B "‘fgﬁng Hogg &rdo 390 8.0, o Beo "‘58&260 A 58 10 A.MS 65 8.20/K0
3808 CBoenTO ‘fgiaéﬁo B 3% (905rB8%008. 36 Teo _‘fgilééo B $¢ 11 AM%

35 8/Ko SH0&  ShenTs DD A FTH (HXrB000. o EoodoH3T HHooko
(1) 2PM (2) 2.15 PM 3) 230 PM (4) 2.45 PM

6. The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is
w8 8wd® HRorJos®d Kowe %000%m Jdare 2533@350@ w8 DT Tas?t, ég@éé’
84S AV) FYo soeron
(1) 20 (2) 22 (3) 24 (4) 44

7. A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?
u¥ T H&osrdo (D8 ooy ADareodH 5 DED oo &0, oI
e&0%0 8 dovodH HOTH ©B & oo @ 9 HovodH ©d Wre B Jod?
(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM
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(1) Monday (2) Wednesday (3) Friday (4) Saturday

8. The last day of a century cannot be

%@QOQS’SD D0 % IS

(1) &Hoardo (2) osga>go (3) HEaso (4) $da>o

9. X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is
(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350
af Togrdod® X $o0050 Yoo 2 1 3 DO H8S ew & Derds. Bndo orgfod® 10%,
a8 PEToH JoeFomr 3w SShard XE . 900 wrgfo SVNod. wPd Y8 51D
orelo

(1) &. 1,600 (2) &>. 2,500 (3) . 2,250 (4) . 1350

10. Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600
PRy D008 FgR© wﬁﬁﬂséogoef’ Sngo & 60,000 Doy Do o ey & g
SVYS oryr) dDIrSone éoéoéo%cbégo $00a8n FgHy Difo Dh & QNS TR
Doddyoru8 10% Eécg 23wy, d°grdo 3EDoVI0EH Jodh v 150 @Kw&ﬁc‘bégom
2Bdy0d0 HBENHIE. TRy oo & orRo o° &s® %o @é;@oo;@, 5"5@“60@%
VNS Jwgo DodEyE orgfo Jod?

(1) &~. 10,800 (2) &o. 8,400 (3) &o. 14,200 (4) . 12,600
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11. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take m = 22/7).

(a) Area of the circle (i) 264
(b) Volume of the cone (i) 924
(¢) Volume of the cylinder (iii) 154

(d) Curved surface area of the cylinder (iv) 308
gNBTBH DEred® Fgddo T Bardes, 8y 6 Srdey wo¥ & (808 &G
2EDEHEol (DTS Bordw B0E%0&, T =22/7 ©d &%8%0&).

(a) yg JTrogdw (i) 264
(b)) %0%H HodH0Ieadn (i1) 924
(€) prdsn PodBOBIHI® (iii) 154
(d) prdo BiES0 Irego (iv) 308

(a) (b) (c) (d)
(H ay G G @0
2 G Gv) (D) )
) Gv) (i) () @
4) (i) @ Gy (i)

12. Match the following

List—I List—II
(a) Cuboid (1) Square
(b) Cube (i1) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
Bod o8I =g B0%08

de—I erde—II
(a) &g Hodo (i) WSS (Do
(b) Hodo (i) $ygo
(c) A< (ii1) (Baezbdo
(d) %08 (iv) &gS&8(do

(a) (b) (©) (d)
O Gy G ()
@ G @ (i) (i)
3 G @H Gy ()
4 Gy G @ (@v)
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13. If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the
original rectangle in cm is

o égzﬁéod@o Vo) FEPI 4 cm Ehow Vkeoyd 3 cm 2003 363526
BEE(D 3T0g0, BIISHED ITogo8 JVETrIHPNB08. oRE SFISE(DY ok
Fod o.dodt

(1) 46 (2) 48 (3) 50 4) 52

14. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of
the metal, what was the weight of the original plate in grams ?

o5 af SEPY) THI Todo v grmream 800w, 80A af Vi rmrd) BHrD
PP &) W) dNE oo EBJ0WrRd. (D8 WVI) Sy W) Ko 20 (. oE&
S Bwgo 7 TE dnE) @0 G0B, wdd 80003 BudE TH &P (.o Jod?

(1) 140 (2) 160 (3) 210 (4) 240

15. Two metallic cones of heights 4.1 ¢cm and 4.3 cm and each radius of base radius as
2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 0.0 $2605% 4.3 =o. D02, aa§'°2r$’2rc5°<‘0§ 2.1 2o0.d 2;5?’5"53"%50 O &)
TBods ST FoHHods E0A0D af A¥om HOTH. © FEY TgHdn Wo.Ned®

(1) 4.2 (2) 4.5 (3) 4.8 4) 5

16. What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Dopgd 2 ©8 D) Dompgd EOVIS HWy Dowg 19 JE TR dooe
2PN 0 Bod0?

(1) 14 2) 5 3) 1 4) 3

17. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,

35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take m = 22/7)

a8 weg(s® HE 60 200.00, 35 0.0 %0050 22 0.0 &) §o€62633§8 S gdoen
BArgoE" 96, 7 200.00 TPgOD Ho0 b0 4 200.00 o)é_ooés SR8y BAlgriONS
Prars iy 5°Sgde dowg (M= 22/7e 8%08%8 )

(1) 75 (2) 150 (3) 300 (4) 400

IS 2016 C 5G



18.

A

Find the greatest of the following numbers
& (800 Dopgod® w8 DY Domg EHoFSrH»

V543, V745, V9 -7, V11409
(D J5-43 2) J7-45 3) Ji1-+9 @ Jo-7

19.

Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?
5 fobes aBI0 (Brido Bodeo DEgron. 88 Hobwo HEIM 6, 5, 7, 10 H00d5w
12 8og 8§80 (Brihdo. BudEI0 (Brasd TE woHow %08, 28 dod
HHa0s0s® @ @ﬁl A E EOD (Bl ?

(1) 7 2) 8 3 9 4) 10

20.

In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

e, 5@;’0@) 5O 40 O&Y oI008 I8 5%. 8 Lo 10% @ﬁoggo 208"y
b@;fo@ &3 3)3@?25?20% Eodrwod, LordoDd 8 Hodrmo (ig)cbgé”s)

1 1 2 1
M 33 () 35 3) 25 (4) 65

21.

The number of integers which are not perfect squares between 162 and 177 is
167 %0050 177 S0y HOUrg $¢dnes 52 drgrosto bowg
(1) 32 (2) 33 (3) 34 (4) 28

22.

The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600
§°0¢ @”X)w&jﬁa 0% 10% IHpS Todks DodEyoroH 725L§26§ 00050 IS
$do Hoge Fdo 8. 631, © Bwdo ooy

(1) . 63,000 (2) &. 63,100 (3) &o. 63,500 (4) J&o. 63,600

23.

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2% years (4) 3 years

wdor $r. 80,000/- o 08 10% 15L§56§ Ten&® . 16,800 26(% ST af
rgoHS® $o0NE & I WrgoHS® $odS DN

(1) 12 dodEyoren (2) 2 Dodgyoren (3) 2)2 Doddyoren (4) 3 vodEyorew
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24. A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is

w8 Hg & . 50,0008 8% Jrgrde 26((%% 2 JodEyoro8 Somonr ywr)®d H2005%0
$:68° 8. 50,0000 ©T Tood JFeodd SEIRE 2 Jodyored aw k. Boﬁﬁf@
SShard 048 80A T Bwzod® Fdo

(1) 300 2) 320 3) 360 (4) 380

25. Match the following
A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(i) 16%% (a) 12%
(i) 20% (b) 6
(i11) 8% (c) 5

Bod A0 =ENIL0d
§0d PIw0yd Ferde a’acfg% ORNOIEDIB. © Bwdo TR odws

26% TE0 SoRdgEhwe 260993
(1) 16%% (a) 12%
(i1) 20% (b) 6
(iii) 8% (c) 5

(1) (i) (i)
(1 (@ (b) (c)
2 (© (b) (a)
3 (@ (c) (b)
4) (b (c) (a)

26. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
a8 wrgod 10% 28¢ 588 Seros adyod. HEr5 8% 38 SHhwo §ord. dorde
g0°g&, w§o§o§o 88 $o090 D 263?) éch, 8. 40,00,000 = 10% Eéc:%@s é?ﬁz) Sng o
2 T Bodod HIr6%H Soege) D02 BN0H. X506 @foos’ozé; Soea D00 ?
W&AD éc{% Tens® (oo drarddiod®)

(1) 100 2) 90 (3) 200 (4) 180

27. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jend 162/3% THPS 3 JodEyorosH Fod IHay zﬁLgéé S, 12,700 ©@ondd.
YA o0 =, ®0S8 K)é Te&®, 908 HHBTIE ol éé
(1) &. 9,600 (2) &. 10,800 (3) &. 12,000 (4) . 10,200
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28. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is
(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648
a8 Bodo P = 8% é(c% Teo&® a8 DoHSVo°d8 HDND zSngéczs 8. 600. ©T Bodo
P = ©d Tews® 2 f\)oéégd"@eﬁ’s ESTDYQ 15L§éc§
(1) . 1,248 (2) 8. 1,428 (3) 8. 1,644 (4) 8. 1,648

29. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it
will be 5 : 4. The sum of their present ages is
3 boddyore (8o o, Fhe Hosdoe VX8 4 & 3, Tok Doddyoro Shhard
®d 5 4 oPXood. 0 (DNE S%de JwFo
(1) 41 (2) 43 (3) 45 (4) 48

30. Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.
The ratio of milk and water in the fourth container is
Qardy F(Eo PIVOIrero A1 3 1 4 1 5 & rEod o HOdw Qe
8)0@’50058 Qoardy. e @%é@é‘si) JFoo, 98 A B v 4 11, 3 1 1 Ho0dB»
512, & dordy PE0STI DFSrod Troodd g@éeﬁ* FF. oS PES Foo
5980350 J¢ DKAQ@,

(1) 4:1 (2) 151 : 48 (3) 157 : 53 4) 5:3

31. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the
cube of the middle number is
Hardo Dopge Povro InEo 1728 wThghwomr &) Dopge LB 3 145 wond
Eéoc;ﬁg foospg Ty PadB0

(1) 216 (2) 512 (3) 256 (4) 128

32. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
a8 argard VoY TWE Jdgd Doy rfom Homr, ;LM AITrAOVS Jgd
Bord@sy  § SrHEr s000d. wf IS 540 5rdy ITrmIE SN S Deo
8r. 1,800. $56°8 TJoc® 620 c5arded AITrmIE D)5 Do &r. 2,040, o8 Joo®
500 GBarEy QVTWIHOWIYE 26?3‘5 3)63355 AJSN
(1) &-. 1,560 (2) 8. 1,600 (3) d&>. 1,620 (4) 8. 1,680

33. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?

6 Hodd 63@@50@ e fdd 10 Serods® S{oTafCTer} D08 TEoD Frnggo @)
DAy wwdod 3 Fdod 5 Fwred’ Qadd Joddh 0?2 '
(1) 36 (2) 18 3) 20 4) 16
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34. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
w8 SSKBST 100 H208 3)(:5"5(30@0 &) 8. wread Yoospg ord¥e 60995 08 10
DED. wroad DAL oy 50 B KBS Aergdowodd Dy Sy 45.5 8.\
rO8o Dty P (B (ros®)

(1) 40 (2) 45 (3) 50 (4) 52

35. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
L. b The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) I alone gives the answer but not II (2) I alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 &oo0d do a%aoé‘s, 11 S0 e:scbm@’@ Db HA%oDo 28 DodEyoren. whd I°ASEHE
D050 ?
L &3%)0@5%3 ©8 VI H0H do wbmd 0T eosaicsy 11 dodEyorer DG,
II. 58858, PADS DO Hood eaéam@é@ D HA%0do 27.3 DodEyoren.
DB Ddrgrdo Jo8%08
(DT 8 0TS Sdrerdo a0, Makgey (2) 1128 8 DTS Ddrerdo 80300, [ akgdh
B)[& Il Bodr Hdrerardd eddd o (4 LI Todr 8D, Ddrerdo avgdh)

36. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
a8 ([{ogrodird8 biwd wharocred® 510 $08 H0d5» WHOS doros® 240 Lod
Do&B @ HI. A SHn& 53365@335 30 doren KOAS Sos® ¥ &8 (fomrediro8
Eéz_ﬁ?) DodE Do DHodd
(1) 250 (2) 276 (3) 280 (4) 285

37. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II.  Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) 1II alone gives the answer

(3) I & II do not give the answer (4) I & II together give the answer

S (800 J"gspg@:éo FEH08

Sae o @1’53@;50@ A, B, C o&?, @1’535 A3 q0L8rg g B % é &929’5%599 doag

L3 g3y defens (98 %a> 20 Ho0d ®fgdros q0bdrgs BIrow.

I A3 rowdrgg WAkhg & wyigdho Jowg B 3 Badog ] @e;fsgoes’o@ 2, C3
Bodg B eFgdo LoB 1 28D, '

(D) 1 $-EF ddrgrdo 906 (2) I 57T vdrgrdo abkod

(3) I mose II, Bodkor Ddreedo aés@@ (4) I'mosell, Todr 0% dHdrardo avow
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38. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

VByER2 (A) 1 20 Jompgo (DAL Dordd D) Yons, et dégom 19 &3
fooagg@o GO% WY,
s~d=o (R) P BEE 20 Jdore Dowgo (Diwo) Ho0o 10.5.

(1) (A) $:6050 (R) Bodr adddom $TIFsE (A) & (R) $BS e
2) (A) %005 (R) Bodkr sd@ddom TS =9 (A) & (R) $Bd bSe 525
(3) (A) $B56 59 (R) Ho5°
4) (A) %0575 59 (R) $THT

39. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
28 808 HEITI I 08 @TI (D8 DodEydo WY 5% Dowerds. & 308
aH)8 ©F JoH 8. 3000 00 wonE, Tok oIS e SSHTE 0T (SrFrdsed®)
Do &otnod?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

40. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000

a8 Hg 8 Mh(om) H0Bn MHEY (ﬁ?\) 8. 30,0008 Sarydo. & Ho(orR) w8l 20%
o8, DO f:)é’\) 10% JarQ8 edrmyds. VBEM w@dd Indo NS 2% oo
dardo. Mo pb&H

(1) &x. 9,000 2) &x. 10,000 (3) &». 12,000  (4) . 15,000

41. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer
gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is

(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

2f HNHDH, SXrdoddd 10%, &% agardd 15%, Dol agardd 25% ordo
SN08. 8 INY Wed & Jov. 1,265 YoNSE, T 578 PE2)

(1) . 800 (2) . 850 (3) . 900 (4) 8. 950
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42. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Todky Dopgo Hdg Pdo 1660. .8 Dopg Ty 7.5%, H068°% dopg Wy 12.5% 8

DIrIFE @ Tod Domgen

(1) 2490, 4150 (2) 2510,4170  (3) 2600, 4260  (4) 2700, 4360

43. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea

and if there are 40 persons who drink both then the number of people in the group is

a8 VBT oY HgHed® 72% $H00 P, 44% 00 & ([THhed. @St (98
255_% 5om, §rd (eiherds, Todr (&0 Hg%e0 40 $06 wonE & Lol
255§_o°e> c“oosp?g

(1) 250 (2) 200 (3) 300 (4) 450

44. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other

he loses 15%. Then, the shopkeeper’s gain or loss is
(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

w8 Sosteardady a8 8) TV . 20,000 S0 pS Todks TVen &93&&3"&0. 8 TV
050850 ©EIE 15% orgfdn H005n Todd TV 2 ©E8 15% 3960 S I8,
VOYP®B, @ $057erdids SV orydw K SFCRN

(1) eresdo 2.25% Q) ooefsn 4%  (3) $0s» 4% (4 Shsw» 2.25%

45. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation
of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

ud &% g0 o0& af dstmardids (DESE Jo v 16,000 «d) 28 TV
HEDMe Tody Ehoy Fdoo 20% & &g 10% o¢® o6 g8 » TV Jarer
BosEdE . 480 P VoNIH. ¥dd & TV . 15,0008 &93)0%?39, STIVERR SRR
o BB D0

(1) 30 (2) 25 (3) 20 4) 15
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46. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price

of the article should be (in rupees)

2.8 osrearrdady a8 HVoHdo & 1,4708 &9330@’3 JDNS Treyd, O $VHD &, 1,0508
OB HDYS P B0 DOF0ISI HHodomrdy. ©EI8 & D) wdoyEsns® 30%
TP BN CFr00d, @ HNHH GodHoDD 038R ¢ (Srroned®)

(1) 1638 (2) 1600 (3) 1578 (4) 1532

47. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A %8050 Beo 380 8. 16,000, 8. 12,0000 Zoéw &8 o Frgardo (rodowedo.
3 Joo SShad A, . 5,000 BISEY @3?05”5”;&50; B zmose go. 5.,000e0 o6 &
:‘oa%f"céo. 208°% 3 Joo Harg C, s 21,0000 LS &8t ms@vdoé’s DO, ¥
DoddyBo EHard ar08 Bwdo . 26,400/-0 orgo HW)od.

Bod (DIWdB0eo H0800%0&

(@) ored) A, B, Ceo0 7:9:6 3&3@3@@5’5 H0LoE 5Bl

(b) (B8 orgfo - C 8 orgfo) = oo 3,600/-

(c) A8 &»r. 16,000/- eoreso

DOODS DIrgrdo

(1) (a), (b) @0 20l (2) (b), (c) @ 00N
(3) (a), (¢) ® D8I 4) (a), (b), (c) o» e—sbl ISTeRCSEISIY)
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48.

A

A is twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &) A TEop @éo%ﬁso@s DY Doy Ho8a5n §)6<§(‘5§° O ¥ DA
18 &farods® Hro Bohiod. A a8y 88 DIV Qrd ToSae HHro%0

(1) 27 8%=een (2) 54 S*=ren (3) 36 &*=cen (4) 45 8°=eon

49.

A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B o 28 $d 8. 6,000% Hr0 [oSwd8 O P& 8. 8 DIV A 2¥)d 6
Perod’dr, B af)d 8 Slerodt @ro TBohdeds. C 3550508 28 & HIJ 3
SPerod® {ro Bards. @“éw&@{’ C ®ng) erido

(1) . 3,000 2) 8. 2,250 (3) &x. 750 4) . 1,500

50.

A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Bodko e2d ¥ 50 éu‘égo L§§¢'S_ v®d wrron. 8&S D BoadeE 10 é.,égé%b FSYe ST IS
Hoeh0 3.2 gShara 10 éqzégé“g o 4.68 HOAHOD. e T°O0E% Bugo Do
303 Boﬁrge&) Dgooa'fg 2AdS 30 é;:égé*’ Do Horbd dod GowEd?

(1) 6.25 2) 6.5 (3) 7.0 4) 7.5

In each of the Questions 51—56, pick the odd number out (does not match).
51-56 %88 (H¥)os® S0 Sopgd dogodad.

51. (1) 282 (2) 364 (3) 4168 (4) 6248
52. (1) 1285 (2) 2213 (3) 3074 (4) 4172
53. (1) 1339 (2) 2665 (3) 3991 (4) 4223
54. (1) 11 (2) 246 (3) 327 (4) 464
55. (1) 5 2) 12 3) 25 4) 36

56. (1) 81 (2) 441 (3) 529 (4) 613
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In each of the Questions 57 to 62, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

57 2208 62 S8 o (B8 (BH)S°H0 ad)s Jopges af ¥ $Fod DS F &I 0.
(28 (B%)S%0 &) PO eBoEd VASTI8 Foko Eukom adyd vl PNYTL H0&
$OTRS war 98° HrooNod. |

57. 5, 11, 28, 53, , 175, 296.

(1) 89 (2) 123 3) 126 4) 152
58. 7,6, 11, 13, 15, 20, 19, 27, 23, :

(1) 27 (2) 34 (3) 36 4) 37
59. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
60. 21, , 55, 78, 105, 136.

(1) 36 2) 38 (3) 42 (4) 45
61. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
62. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

63.

In the Questions 63 to 67, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

63 $5008 67 H8H ad)d LX:%;@@S'B sof @Eorws HOdw o 0o 603.75@9 1 3008 26
DO, af o $FD AOLTR) rdtyT 0. (08 BH)S® @) e, wBoERe oS8
Fordw Lodom, ad)d oo PSP X008 H0TS aIe 28 Yrootod.

If VEDA’s birthday is on 22-5-41, thén RAGA’s birthday is on

VEDA &3 &% 22-5-41 wonsd, RAGA DY &%

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61
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64.

If AZEV : FUJQ, then BYFU :

AZEV : FUJIQ eo»nd, wdypd> BYFU : .
(1) GKTP (2) GTKP (3) GTPK (4) PTKG

65.

If AKBAR : 15, then ANWAR :
AKBAR : 15 woxns, @Xacydéo ANWAR : .
(1) 11 ) 19 3) 17 4 21

66.

If ICET : 73, then HBDP : .
ICET : 73 ®oxns, @Xasocéo HBDP : .
(1) 64 (2) 34 (3) 48 (4) 54

67.

If FACT : 54, then TAKE :
FACT : 54 woxns, odyd> TAKE : .
1) 35 ) 46 3) 68 4) 82

68.

In questions 68—72.

In a certain code of the word ‘SAINT”’ is coded as 82147 and the word ‘MONKEY”’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1)) If no match is found use X

(ii1) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

BF)oo 68 008 T2 B

o8 §°&8° ‘SAINT’ o3 Hdo 82147 s, ‘MONKEY’ o3 %do 364950 mdo §°&

B 83 §od adyd Aot wgrdom THED dfd dored &8 [3°d0s ¢

(i) @ 8633 VIS 0 oW, v 0D 9 m IrsHod

(il) HOoTFOLe & TEPE X %0
(iii) BSE @03 ‘00 ®onsd o (212606”3 1 ko0&

(iv) B0l 00050 DD woTewn, W sE 2 578 TT JHrS5» wond Dopgen
wond, BodE @03 §&I 2m Hrdyod

The code for the word INMATES is
INMATES o3 $do [SSEEY §°&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578
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69.

A

The code for the word YESTERDAY 1is
YESTERDAY o3 $do aooéa_ §%&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

70.

The code for the word STALKINGS is
STALKINGS o3 $Hdo a“m§zy S
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

71.

The code for the word MONASTERY is
MONASTERY o3 %do Ty, §°&
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

72.

The code for the word ASTEROIDS is
ASTEROIDS o3 $Hdo TIoE). §&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8

73.

A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

a8 Brerdd 578 70 8o/Ko B8 BodB (98 Tods Kovesr 10 8do/do Fmrdy
20WoK008. o 5°5E 360 8. EroeQ) (DISrefot w8 XJ'(? DHoaso0

(1) 4 dove 20 Jddoaren (2) 4 Hove 30 Jdoaren

3) 4 Kovo 40 Joreo (4) 4 Hoveo 50 Joared

74.

AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is

AB 2.8 08¢ Ty, a8 DS A 2008 000036 &g gdnpomr 8 4 0. E69,
éo@@ HEBY §8e VIrodSom 3 Ho.dowd 6O éo@@ 8 t%fsgszéoozpom 2 200.2000
60, 80h 583D §8x vIroddomr 2 oo 8O DI (80b8 e& dwponr
S0 B T000. odypds 2838 H0Y BToghn (SSEH Do.es)

(1) 24 (2) 26 (3) 30 (4) 144
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75. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 40.,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)

28 S5 & Sardg 633 40 . BrEHn 8D, b AEHo IH 90° 86A 40 Qo SrSHw
S, wdypdo S8 OIS 4042 0. ErEPn $dFE. SEE (rSoDoDS Do),
&E QYo TS DoddHo DGy drdanm (.07

(1) 0 (2) 60 3) 6042 (4) 8042

76. A person walks in the given directions as follows
(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)

a8 $g 8 (Bod va)d &§ozr®e5”s INTeR R yech)

() 80y O%S® 60 Do (i) SSrard S BFS® 80 2o (iil) e HEHE 84S* 120 Do
(iv) 88090 &g8 64S® 30 Jo. H0B» (V) wdogdo Srdy BFS® 60 . Sdoddbo.
B3 JEE (PEoPOoVS Do), S&E Qrd TS DododHe Dogsg Srd e (D.08%)
(1) 30 (2) 50 (3) 60 (4) 120

77. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

af g8 Erdy 84S* 250 . Sdodedbo, wdypd w88 4S5 50 Q. JdoJe .
&953()3&50 HED08 6% 300 do. ESC@J@_‘:CéO. @dd Si8 @"60?:)0{’,)26 Do), S&% ‘cfgj"g
TR DoddHo HGg Brdnw (D.0s%)

(1) 30 () 6042 (3) 10042 4) 5042

78. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m

ErdosH wdlopomr wd) Hg8 Srdy oLy 30 ﬁ)oéogo S&orE Sfwo I
40 .00 JHED D DENE Y 60 .03 SETEr. BuSE Do) H0& wBBoH
Er8od® oy (.0

(1) 50 (2) 60 3) 70 (4) 130
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79. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? ©3 ©H(EH0S" oD Dopgdy LHA"Lodw
(1) 35 2) 38 3) 39 (4) 40

80. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? o3 @EéoLS’?éooeS'SEO Sz Do s’zéoé’szroc%
(1) 96542 (2) 65423 (3) 96543 (4) 65234

Read the following data and answer Questions 81, 82, and 83 :
Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddn Soa 81, 82, 83 (BHHoXh xzardlges :
Sngo 35 Hod Dwsé@fao@"‘ 16 So08 (oW, 16 Hood Do)y yEHw H0dsn 11 H00d
Boory BT HB8 0w 8. 5 8y (oW H0WBw Sewoiy Todr SSrol, 20°
dfods Doy ydo Erae LSS0 ©30EHoLT 8. 5 S S éJ"’LéTGSO I arVIIP)
w&)‘fg, 8 Hod Dodyydo értéﬁo SIS SIVIRERNESISIPEv L) For B

81. Match the following :

List-I List—II
(Choice of Languages) (No. of Students)
(a) Only French and Sanskrit 1 2
(b) All French, Sanskrit and Telugu (i) 1
(¢) Only French and Telugu (1) 4
(d) Only Sanskrit and Telugu (iv) 3
Bod &8 =SEDHEWos
eI eIl
(@Re A o) (S)U"S%So@ Sowg)
(a) (oD H0dB» Dodyydo ;S i 2
(b) (oD, Dodpydo H0Bn Bwoihd @ﬁl (i) 1
(C) (HoD Ho0C8H Vool Ho°($ o (iii) 4
(d) %H0%) o Lo00sn Bood HrETHo (iv) 3

@ B (© @
(D) (i) @Gv) @O (D)
(2) (i) @) ) ()
(3) (v) @) () ()
(4 ) @O  Gi)  (Gv)
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82. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
(Bod ad)d (pITTeS® A0 20572
(@) 10 Ho06 S)mggoeo 3 rhos® £d%0 Todotdar) WhdrodsHoboae) 8
(b) 5 > dargdows Hordd rhodt D6 re ISredshdo B
(€) 4 hd dargdood Dardd PR WHHS HBI0LIT) 8
(d) 7 %8 Smséow (0D PEDo ST 0308 0T 8
(1) (a) (2) (b) (3) (o 4 (d

83. Read the following statements :
(a) 30 students want to study at least one of the three languages
(b) 20 students want to study only one of the three languages
(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is
(1) (a) is correct but (b) and (c) are wrong
(2) (a), (b) and (c) all are correct
(3) (a) and (b) are correct but (c) is wrong
(4) (a) and (c) are correct but (b) is wrong
Bod DIVl WEHod

(@) 30 Ho08 Jargdowo Do rhod® E)%0 28 rAZT SdarodHoboar)d
(b) 20 %506 FDCS"gg;So@o HrR08S 28T HrB T WdTroBogoboT) 8

(€) agd dargdoen DoV yEo oS Boa Todod doo(E o VBT 0800I 8
DO 03D fo:érc;"l:ézéoo

(1) (a) ¥3IT 572 (b) LwoBn (c) 205D

(2) (a), (b) Loddsn (c) Hards DTS

(3) (a) %605 (b) ¥TIT 520 () Vo5&

(4) (a) $0Bw (c) HBIX 570 (b) Do
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The number in the figures in Questions 84, 85 follow a pattern. Find the number in
the place marked (?).

Bod adyd 84, 85 (¥ v DeHNOS® Jopgwr wf ERDIBS® eI 0. (?) DES Se STy
éoa:g s’:éoé'szroc%.

3113 7 |58 5141 7189
84. 115 3[40 419 539
(Hh 9 2 8 3) 7 4) 6
418 6112 12 | 36 7120
85. 112 23 3] 4 215
(1) 16 2) 8 3) 10 4) 2
86. A silver cuboid of dimensions 5.5 cms X 5 cm x 4.2 cms is melted to form circular coins

of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

55cms x 5cm X 4.2 cms SPodor do 8 Tod ég PoorR) E6hAow 1.75 cms g OB
005w 4 mm  Hoddw do Hyee sy STBOY S05TE BIS. SESRSS Fod SPHeo
008 $35r3S B Doy (T =227 od 8804)

(1) 120 2) 80 (3) 60 ) 12

87.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

bY SSG(rsCod® @) a8 Fodn Ty Vo), PEd 4 1 5 D0H8S® Kod.

s Fodn Vo) Vo) D o) 20 m SEH S @;6;5", @ Podn W) Koo
Fod N.od

(1) 240 (2) 300 (3) 360 (4) 540

88.

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 88, 89 and 90.

Bod ad)d edod® Sopges o EHodEBS® aIm on. & JITTELN SHTIA0D, [BFHoo
88, 89, 90os® (?) I e é?ﬁa Sogdd s’:éoé’szrocf«;.

1 3 4
3‘@5 1‘@3 62
8 8 3
4

6 3

2
(1) 26 (2) 28 (3) 30 4) 32
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5
() 3 (2) 4 3) 5 4) 6
90. 12
% @ 12
@
3 1
(1) 2 @ 3 3 5 ) 1

91. Consider the following statements
(a) Any two similar figures are equal

(b) Two circles with radii 4 cm and 5 cms are similar

(¢) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (c) (4) (a) only

& (808 (DdSTrod HORO0T0R

(a) Q Todk VErD HErBor DITLOM G0Lrown

(b) 4 oo FegIrgann $o0dsw 5 200.00 Fgrgsn do Tods HHores DT

(€) LS (DHor, Do zﬁé&d@&é@; DT

(d) 3 oo Haedn do DHerdeo (Bebeudn, 4 20000 Foudn do Do
(8808 DO Dw

D (93T oros® d0/AD HTI6?

(1) (a) L000%0 (c) (2) (b) 00030 (d)

(3) (a), (b) K000 (c) (4) (a) 28, @
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92. Match the following

(a) Mahalanobis (1) oo

(b) Srinivasa Ramanujan (i) First Indian Satellite

(c) Bhaskara (ii1) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

(Bod a8 wdErdyod

(a) oS0 (i) oo

(b) BJa0 occdrdomd (i) BodE edd &dHT 0

(€) 98 (iil) Dogrg 7Y 952

(d) «33a6 (iv) o&0s FBRES adPworgd

@ & () @
() @Gv) i) @O ()
(2) Gy (Gv) @) ()
() i) @) (Gv) ()
4 O @) @) o (Gv)

16 .
(x+16)2 > If
(i) x#-16, and (i) x* + 32x = 320

93. What is the value of

16
(i) x #—16, %2805 (i) x> + 32x = 320 wonS (x+16)? Do Do ?

) 36 2) — 3 P
M @ 57 ®) 30 @ 35

94. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

¥ 8g SEIPY JFogo 60 SEEH FBardew. o0 PED, Ihojody HEde
6 OSJJ‘;ZDQJ D00 a0 2 SBardéw é{j"‘f_oo ©0 a8 LI (DNHE08. D PR & BSG(DY
STogHn (VSEY FBarde &)

(1) 4 2) 9 (3) 16 (4) 36
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95. Consider the following statements

(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon

(c) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (c)

(3) (a), (b) and (c) (4) Only (b)

Bod a)d (dIBTod H030%0d

(a) ©5°408° “rdgds dod IS 0TV, FrwD ¥ SWH ¢ wod DM
0ol

(b) 28 $0H & I V& @ ([@Frod) AN éoc;"g%rloé{’ HoBo0H

(€) odrardg dds Bordgds, Wo(Baky Forad BEE IPS wowrdd

DI ) (PIST0S B/ DTID?

(1) (a) 220050 (b) (2) (a) L0005 (c)

(3) (a), (b) 00050 (c) (4) (b) &5 ®

96. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) £0050 (0,3)e Bgrenme &) TPoghe SFTogo (BSEY LS
(1) 11 2) 14 (3) 22 (4) 30

97. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)
a8 VY Mhardo (o.)%:\o » F05) I, wsSos® ézé‘lé ao%ao Vo) @ gHoDdw
8 Do. P H008& r‘s’oS’oEé_) %60 [SSEEEV o)éo 15 5. $28605%0 (oroao Ay 12 . Jondo
Bo@rorR), D PHE @X)@déoﬁog SIS ﬁwé& 3T0g0 (zZS . @eﬁ's)

(1) 144 2) 116 n 3) 9% n (4) 64m
98. The next term of the sequence 1, 3, 4, 8, 15, 27, is

1, 3, 4, 8, 15, 27, e—pzéotééooé%f\) E&har8 Dowg

(1) 37 (2) 44 (3) 50 (4) 55

99. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

YA YabYeN @zér&oooego FE 800 a8 o ErHTS. B8 kDo (980, Dood
HE (983 Do w0d. ooFE Kb L@ézré 00 wob. o°e88 Dby Hogigd ber wob.
FE BoggSt @I 8 B2

(1) o°es (2) 256 (3) ber (4) Dok
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100. Fill in the blank :
P Hrdotod :

CG:HL ::KO:

(1) QV (@ PT (3) RV (4) VT

101. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(c) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod aBS® HOTHY dmen 520 G HdoWod.

(a) or8§ o a8 oSroBRE

(b) §6So»Is°E 2 dSrod TrGs

(€) DETE a8 Bro8IE*D%S

(d) A5°9S 28 (o83 B=d

(1) (a),(b), (d) (2) (a),(c), (d) (3) (a), (b), (c) 4 (b), (c), (d)

102. Read the following statements

(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.

(c) Programmed cell death is known as ‘apoptosis’.

(1) (a)and (b) are correct (2) (b) and (c) are correct

(3) Only (a) correct (4) All (a), (b), (c) are correct
& (800 (DIUTro eggadhldo Ho%0d

(2) HEred® LoFRSHTHY 5°86°) (B gy, adld rrod o) Tgo FT0E800
Bodozon

(b) HIedoBrzg DNA S Bod5 DNA ©d $re wowrdd

(c) (Per®s Fomr Serod SIFSE) ‘oPDETVD wolrdd

(1) (a) £0050 (b) HOTHHD (2) (b) %0005 () HOTHID
(3) (a) HE HOTHIG 4) (a), (b), (c) ® ) HOTHIN
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103. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood
(4) Adrenal medullary hormones increase the B.P. and heart beat
PA(@ DO S0 0§oD & (B0d (DITVT ol ©dgdhdo T HO A fabfeYeEnbReLl)
(1) Q@SS (Hod 9 dorard) IE°ES J8°9000
(2) dEddo S0 oD SENSRTSS
(3) &derddo So 8os® ‘CO’ Hodrmo 0h 0, dodormo Sodo
(4) QB SDHge &y down 8 DETD), H0B FLET Ird) Dowsron

104. What is the function of Plasma cells ?
(1) Antibodies formation (2) Storage of fats
(3) Storage of proteins (4) Vasodilation
Q"i)"& oo IO QW2

(1) 158 Jgscod bégdowﬁocb (2) (BHge Qg
(3) D00 dog (4) >FBTQS

105. Which one of the following is not correctly matched ?
(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra
(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia
S5 (300 2dod® IO HOTNIL 5°%

(1) oS B, — B0BO (2) oS B, — o™
(3) De2S B, — w80 Hoodhosso (4) 2605 B, — 28)20050S 5805
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(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.
(c) Western Himalayas are biodiversity ‘hotspots’.
(1) (a) is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b) and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

& (800 (HdVTrod wEgohdo Bohod

(a) srerd8m0d “@998 Bw3 386 (S0, %00» JE*=s Bw3 & (NO,) mds™D
V8 weHost BEg BohIR®d ‘e Eég"@o’ Er80J°0%.

(b) odgod &rSone &0® Tedden &Y C}SSS%?QQOSJS

(c) dBy o Wdrodres HJILg FEXHE o

(1) (a) 200303586 520 (b) Ho0dbw (€) DOJD s

(2) (a) $50Bn (€) 200D 570 (b) VOIS sk

(3) (b) £9005» (c) V0PIV 52 (a) LODIE s

(4) (a), (b), (c) @) HVOTHID

106. Read the following statements

107. Match the following

List-1 List-IT

(a) Methane (i) Knock-knee syndrome
(b) Phosphates (i) Global warming

(c) Freons (ii1)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (800 78 uEDTW0s

-1 D11

(a) 0TS (i) =5-9 2o&0

(b) Foyden (i) 68° & >80k

() (poSroe (ii1) XDCSK)JQ@QS”S H00220 (bloom) Ddaéc‘bo
(d) &*B&eo (iv) &S 2o(&&0

(V) &8 & foleo
The correct answer is

BT BETFGERO

@ b © @
() Gv) @) (v) (i)
(2) @) @) (v) (1)
(3) @) @) (v) ()
4 v G @Gy @
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108. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located

(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0&rE, R BN Dov PO wyidsrdargody FONMND) oo DO (X

(1) 588, oo, HodtoRy (2) Eomyvg, Hgg(HTS, ST
3) éoég@ﬁ%, HoFPorR 9, SQF ek (4) Zor e, oo, éo@ﬁs@aﬁ%

109. Identify the correct statements
(a) Magnetic force does ‘no work’.
(b) Electrostatic charges generate magnetic field.
(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.
0BS AdBeven HdoLod

(a) oohIrpod oo DIV .

(b) % 36535@13%&)03@ So8 @0y od B (S50 ¢d)8 @b

(©) ®oI 08 © T VBTSS0S eddI 0¥ §Le§ém DE88S® o,
(d) 2868 wohdrpod F (Ed» Jdgse o,

(1) (a), (c) (2) (@), (c), (d) 3) (@), (), () 4 (), ()

110. What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic
s (800 2 F°8E $o7y Q) (SBgEnoS® Ho Srodn (HBDoNOT wITHE Jeodes EHEYT
(HTIHB0S® s ?

(1) &3 (2) g (3) I%gs (4) ©dsdryod

IS 2016 C 27 G



A

111. Identify the correct statements

(a)
(b)

(©

(d)
(1)

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse

mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse

mechanical waves.

Electromagnetic waves are transverse waves.

(a), (b) only

DTS JdBeaen ?ﬁa_@ooiﬁoc%

(a)
(b)

(c)

(2) (@), (b),(c)only (3) (a),(d)only

(4) (a)only

$gR0 Sdomror 0N WSEIY SSomen eazéo@gg 05ro (88 SSonmro.

$3Q Sdomor wHnBIg dBro(@F Edomwo OWBn JILogdaloIrod EJomen

@655 Bro (@8 SJome.

B3 SSomo wNBIg dro(@8 Edomer HNOWN 98 FIO Edomen @655

0Sro (B8 oo,

3) (@), (@) 7B (@) (a) S(SH

112.

(d) Dogdcshodrypod Somen 88g5 EJomen.
(1) (a), (b) (8 2) (a), (b), (c) &(&
Match the following :
List-1
(a) Mercury thermometer
(b) Platinum Resistance thermometer
(c) Thermocouple thermometer
(d) Constant Volume Hydrogen gas thermometer

Bod T8I 2BDELod :

(a)
(b)
(c)
(d)

Rt Alacal |

D080 §0 e IAS DI DD

3O B0 D6 SIS DHIrDEDW
&R 05396%2633 Ga(E HIrDEDW
28 PodB0Bre o (BPeS @raind)
SIAS BrDEB0

(@ b ( (@

List-II
(i) —200 °C to 1600 °C
(i) —200 °C to 500 °C
(iii) —200 °C to 1200 °C
(iv) —30 °C to 350 °C

a1
(1) —200°C %00& 1600 °C 8%

(ii) — 200 °C %508 500 °C $5%
(iii) — 200 °C %508 1200 °C $5%
(iv) — 30 °C %908 350 °C $5%

(H @ ) (Qv) (i)
(2) @) @) (Gv) (@)
() @) Gv) G @)
4) (@v) (@) (@ (D)
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(1) Fe* 2) Cr (3) Co* 4) Mg*

113. Metal ion present in Vitamin B, is

AHDR Blzé% Jo &% @osrS

114. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

(DS wiEd0m &) Hodw azéfozéago QB BT DY) (8800 @33?@@5" §¢0@ oo
QB 5@ 580

(1) 05'(.355 (2) $® (3) 3= u3 6o (4) DTS

115. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod TES® >OTHHE T 02

(1) BEBS 2) 5365 (3) Bur5-6.6 4) BoOS

116. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

@éoge‘_épzéo Moed (fogo& aﬁg 2O0 3y 5"5@ @mé 2016 H05S B3 508
©HoV0d? & PI¥o HT.

(1) 528 rerd — & 3§ Grgod : & BEO BAD ©h 20805 A
(2) &*&°S BE) — & ¢% BIod)

(3) $hod IrPIoHS — 2 Irg TP oD & 56 ©D & w8

(4) D DIy —  00) wo& Tz ad Dowd
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117. Which of the States 1s not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(8o& °8S° BIMARU ovg90 5700
(1) %386 (2) Dogg (535 (3) DB BWorrd  (4) ore e

118. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
S ([ PIJ Edw (80d 3S® BI8 Yo 050D
(1) wdHo 298 (2) DO A0S
(3) (o FoHEg0 (4 (Tom ISgHES

119. NITI Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &T3rh HIQ 2000

(1) SIS as Borgd $6 BEIES asIRTAD
(2) SEIS asES ()96 & 208JBrgH )

(3) IhdS ad)Bworgd HO (WP 3r0300 R0& ST
4) IhdS 2000TI) B9Voh adyBaergd

120. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) EastIndia Bank

RE wg0f ©h R0BIT PrgH) W

(1) D&% ergof ©d zo&dsr (2) 20%80%S ergof e z0&dsr
(3) HEIS wrgof ud wodosr (4) &Q modadr wrgof
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121. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India

(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)

D& o o ¥ @%DQ@@S_ 23{’§ (IPAB) ez (d5°80 B3 )% Bodd 2Tr(d S
208Tas) 02%9 (GIR) ol Do 2rdy8 HohgodH 2TWP(UHES 208TAS ol
%0080 H0El0 BFod. & In@ PESTIoSD 7 orer9o8 H8008

(Bod o&S* D& dwo

(a) & Ak orar9e HTPH0 HOFTTE (Fodod Lo

(b) & A% orargen IIredre Fore Tod Lol

(c) & A& orer9en PrESETIoS Y g S-&imdHg0S® Loh

(d) & 2% orargen S8 o rEETHoS® Loy

(1) (a) d-(&o (2) (b) So°(&Fo (3) (a) H00030 (d) (4) (a) L0005 (c)

122. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan . Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana . The government to place specially designed cradles in all state
hospitals

‘Wi DQo D088 oW ) TrH90 I Wl DEEoD (HTIDFos. T (Deed

oggo Aoe3 ?

(1) &g (9TF  : od Dood $§o%iws &r. 200 §°¢H Seronodod

(2) &g B35 1 el Do Qo, oY) VIErE YKo

3) Tag"g D ud ool DELomr A& DY@ IE 65 (Dabdg b (dos®
(HEg8om Do 0% &d oo Jodn

(4) Sogd D o) (HghEg sdod(Hod® (HBgom o0 & #1000 Jowo

123. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) Syears (3) 6years (4) 7years
QBRASwew S S0 §EH Sy TAweE 0ok rdETH0S® I DoHSYEHwen
AH0D &okdBL.
(1) 3 JodEyore (2) 5 Jod&yoren (3) 6 VodSyoren (4) T Doddyoren
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124.

Consider the following

A

(i) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009

(i1i)) Right to Education Act assured free and compulsory education to the children between

years 6-14

Which of the statements given above is/are correct ?

(1) (i) and (i)
Bod arsege H0BO0 BB

(2) (i) and (iii)

(3) (i) and (iii)

(1) Qdarg &) Fho A8gd (FENE T Eyr (HESoVod
(i) Dorg &y Ko 2009 ?ooéégdéooé’s SR VIAY R IoN

(iii) 6-14 J038 oS’ &Y DYOOLOE &S HdBw 8ol ISy amrged oy

&y WHo (DEBoV0H
D 5god® d8/9D HTID
(1) (1) L0000 (ii)
(3) (i) L0003 (iii)

(2) (i) %o6050 (iii)
4) (i), (ii) %o00%0 (iii)

125.

Match the following

List—I
(a) Rajoliband Diversion Scheme
(b) Sriram Sagar Dam
(c) Lower Manair Dam
(d) Kadam Reservoir
228 DY odm

eI
(a) oofen  od éo@@oﬁg) HPEo
(b) Joro 06 @S
(c) &*0%086 $r36 @&
(d) Qo dexorgaib

(a) (b) () (d)

CORN(Y (i) @) (@1v)
(2) @) (1) (1) (i1)
(3)  Gv) i) (i) (1)
4 @) @Gv) (1) (1)

List—II
(1) Karimnagar
(i1)) Adilabad
(iii)) Mahabubnagar
(iv) Nizamabad

eI
(i) £603%K86
(i) vdorerd
(i) Sode 7HSKE
(iv) derdorerd

126.

Which of the following Articles of the Constitution can not be suspended during the period of

National Emergency ?
(1) Art. 32

Dens S
(D) @Qs’ef 32

(2) Art.21

2) ©0sS 21

(3) Art. 19

(3) ©g&S 19

IS 2016 C
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(4) (1), (i1) and (iii)

(4) Art. 15
2 &0%H oEgHDY DOVE AHOWI sos® O"’aB"’SO(‘fO(’S'SD Q ©0ESH dwyok Enfovtled oK)

(4) @085 15
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127. What is the correct descending order of foodgrain producing states ?

(1) Uttar Pradesh, Punjab and Madhya Pradesh

(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana

(4) Madhya Pradesh, Punjab and West Bengal

PSS TH0S® eHty TIGOD H0B0BE0S® B (ELoS® (D 20&) HodoT e ISR
HodoLod

(1) &$5HTE, Dowrd 005 Sogg(HTH

(2) &SI HT5, éoég@aﬁ% H05n By Bomrd
(3) Hoerd, ¢SIHTT HOWBH Swomrn

(4) $8g(HTF, Doerd HOB» HRYSTomrd

128. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
@08 0D FITEE (HerPs VST QD DSt PoddETSH
(1) Sol& =rde (2) ooh9 @rde

(3) &dé =der (4) 0339 vhs oo

129. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is

(1) (@) and (0 @ (b)only (3) (© only 4) @ and (@

& (800 Trsgod® DO/ EHY?

(a) Bwodse ‘éo%ég (D@50 sPod0 — 1951-1956

(b) Hor&sd ‘c’ooiﬁég (D@5 sPodn — 1966-1971

(c) w85 HoSsy (ver@s soBm» — 1980-1985

(d) 25 ‘éaoiﬁég (D@50 sPod0 — 2002-2007

5TH HEPEHED

(1) (a) %605 (C) Q) (b)srED  (3) (©rED @) (a) 2005 (d)

130. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
DOEQDI, ®V0o SO Frerdde o & (Bod Ao Dendd
(1) & dS° (2) 038 3) éS“gdl@s (4) ooy DS S®
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131. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT TH BT 9 THPHIY 3 DerS AHS?

(1) wroys (2) wgrsbdS 9O

(3) BT 8 A &S (4) 8°EF xr SHd§

132. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15™
centuries brought deep changes in the political and religious fabric.

Reason (R) : Tlhey came to justify Khilji and early Tughlaq invasions of the Deccan
Plateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BBFES (A) @ 14 $005n 15 for_snod® 88 oddTd wrp F@Hoo S8

(PO E 5055 oSS0 ég, &3 (rod oc80% P08 VH oddoost
SPBS Srdoyes voFdodaron.

sdedn (R) @ &5 D8P DB 5)&?@ $0A%w &O Sff Soddir@ody Trga o
IAweT B FHor & (Fosedd DRI, ¢

Ddrprdo

(1) (A) $8050 (R) dz=0 (R), (A) £ 0000 258

(2) (A) 05w (R) Todr Jzo 520 (R), (A) & H0005 d8er 52

(3) (A) dzo 5 (R) gDy

@) (A) 85y 59 (R) dwo

133. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
BerdS (A) @ Dodgo (@) 8052 ©59) 5708 c%@ $HSoe® Sok ﬁég 5362
D HoBdo.

82 (R) @ oo @QE é)é? (Do BVE) I8E H0WB» HE (DI B0© égg
THB0OB (90508 0Bbo.
Ddrprdo

(1) (A) %8052 (R) dz=o (A) £ (R) 98B0 dd8e

(2) (A) 0050 (R) dzo 520 (A) % (R) D003 D8 s°¢%
(3) (A) Q=0 57 (R) 8Dy

@) (A) 82y 5 (R) d=o
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134. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is

almost similar to

(1) Poligar System of Vijayanagaras
(2) Igta System of Delhi Sultanate
(3) Jagir System of Mughals

(4) Izara System of Mughals

Friveod Too IV, vdghionr Jvo rES 0T D) HIrer DD HFELe 9T TES
WP0A e’ Q AErdind JO sod.

(1) Jzchsds cero scvomd By HgHY

(2) @9 e steoTE asT AGEHHN

(3) Bodwe svozd wrhb S5y’

(4) BoHeno scoo S Qo JEEDHdN

135. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills

in 1919
(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) GS. Kaparde

1919 H058)808° T0& Do ég@ééom BPron FTHI0EO od o BRI
GBS Bgogls D

(1) €6 & &r5 b (2) B.D. %&dS

(3) M.R. 2205086 4) GS. s"éé

136. ‘Jorwe’ culture belongs to
(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) Ironage
T D000 )8 & 5PLodEH TodI

(1) e (o3 dsnifo (2) Yy &8wr dSwifo
(3) Hogg o°® B0 (4) 10 G Sswio
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137. Match the following

List-I List-1I

(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (iii) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
S8 (800 @A 2SBDNGodw

R | eI
(a) &°6 (1) ore o Q
(b) @ohod (i) Hozoed
(c) S (iii) $ogg (9TH
(d) doron $G°E6 ordd (iv) &g (937

@ ® © (@
() @O G 3 (@Gv)
2 @ (Gv) (@) (i)
(G) @) @) (Gv) ()
(4) Gv) @) @) (@)

138. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda
(3) Sabha the assembly was mentioned in Rigveda
(4) Rajan occurs many times in Rigveda
&ﬁsdﬁ:ﬁwé& Do ofow &8 (8od TSt Q (PEFES Dy _‘336”’&26 &ob @
(1) "$gL0" %000 STgSH0 0600
(2) "wrVEH0’ H00D TgSBN DEYRIT S
(3) D %000 SHTHgEIH wE0d
(4) ‘el o DESNG SHUgEdN Tor Horgdhines D700

139. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion (3) Tiger (4) Rhino
S0t B8t S® S0 )BS HHHE Hoo(B W Q oD 0oy BEY ESL?
(1) Qbactd (2) DodHrd» 3) H® (4) &Boyidn
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140. Match the following
List-1
(a) Kosala
(b) Licchavi
(c) Vatsa
(d) Matsya
Ss (808 TP 2BDNGwodw
AR |
(a) &*%o
(b) O z)é)
() &)
(d) So8yg
(@ G ( (@
I Gv) @ aG) (i)
(2) @iy @) (@Gv) @)
3 O (@) (1) (@v)
4 @) @Gv) (@@ (i)

A

List-11
(i) Vaishali
(i1) Kausambi
(i) Viratanagara
(iv) Sravasti

eI
(1) 370
(i) 5°=~0d
(111) DoredHEd0
(iv) (@53

141. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha

(b) Kundalavana

(c) Pataliputra (d) Vaishali

& (808 adg & 23"’%5 Dodo DIrTIL0nen 200D @33%5&3@2@3 (B c“oosyp?g@% (000000,

(a) ocmdyd
(1) (), (b), (c), (d)
(3) (d), (0), (b), (a)

(b) Hodwddo

() >ody s
(2) (b), (), (c), (d)
4) (a), (d), (c), (b)

d) 370

142. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.

(1) Svami, amatya, janapada, durga, kosha, danda and dharma

(2) Svami, janapada, durga, kosha, danda, mitra and kshatra

(3) Svami, amatya, janapada, durga, kosha, danda and mitra

(4) Svami, amatya, thataka, durga, kosha, danda and mitra

©dTH90 (DS ‘Toego’ B wolined &8 Good. & (800 IS IO HOTHOO
(lj T, WATSL, BIDE, S8, §%%, o Lodsw Iep)

(2) Jrgad, wIDE, ol 8%, o Qo HoddBw o (&

(3) g, wdrdg, wIDS, Sy, 8%, Sod D0 M
(4) g, wdrdg, Sers, S, §°4, $od Ho00n o
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143. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai
&1 (808 aAS® @ (Hodo SMF (Frod BOST H0HBoN H%0d.
(1) &8585 (2) 3FDHés*8o  (3) SwbBrS (4) o809

144. Identify the wrong pair

(1) Aryabhatta — Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsambhita
(4) Bhaskara — Panchasiddantika
&1 (800 aAS® DB HOTHD w5

(1) edgafeo — @:9552;5&%050

(2) ( Doy — Sodsedgs

(3) SETAE V% — )& &dowrd
(4) =08 — Xvoé?ocgt*o@g

145. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 a"égéweef QB HOTPOH 57K

(1) wordg modocks Hodsasrd 23‘“’%5:30@5?533260650 S g i’og;oé F°O (D300 D
FR0 B

(2) DB Tk HoTEASTD B EB0EBN50 TS EPod JP0(DEraiod FTRoTWR

3) @65 a‘@éa pevYeYonty) ocgﬁ"@éacéa PSOPSLTORBIN wgm&a Zﬁ?égé’bé ?oc:as"oé PO (DT AL
OJ00DoWIE

(4) =~o& a‘z@éa Sod 3w ﬁo@ﬁé_&o PRSROATONOAIN) ?3"%5253@533@5’5?0 o3 mrwrd ?o%roé °0 (TP O%%0
d00DoWIE
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146. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i) Odisha
(c) Lead-zinc (i11) Rajasthan
(d) Asbestos (iv) Telangana
2B DoWadN
-1 eI
(a) Srodddo () D083 Bkl
(b) I3 (i) 28
(c) %dn-2of (iii) O"’&E%"’S
(d) o@2HFD (iv) Boomre

@ b (© @
(@ ) G (i)
2) @Gv) (i) G ()
3 O (i) (i) - (1v)
4 Gv)y ) G (@)

147. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is
(1) (c¢)and (d) (2) (b), () and (d)
(3) (b)and (c) (4) (a)only
(Bod oAS* DO HrdH ([P 0¥ sodgioraro S80S Tokhdod?
(a) S (b) §éaf§§)§ﬁ§o (c) oo (BDg%0 (d) SgsJradoo
DB DIrgrdo
(1) (c) Ho803» (d) (2) (b), (c) H08030 (d)
(3) (b) 206030 (c) 4) (a) Jo- (8>
148. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and(c) (2) (a), (b)and (c)
(3) (a)and (b) (4) (a), (b), (c) and (d)

(Bod a°¢° B L00d (derdorm 88 Sod 0Pothn?

(a) V&8 wHoo o VEEHT0E wdHon

(b) Tdor 8 sHeor o ©HoT Y wdHeo

() DESL0E FyomrsedY edHen

(d) 270 3ol v5°8Y sHo fo vHod) wdHo

ISHSESIE-TL

(1) (a) H008052 (c) (2) (a), (b) L0805 (c)

(3) (a) H0005x% (b) (4) (a), (b), (c) H0005 (d)
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149. Consider the following crops

(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and (b) (2) (b)and (c)
(3) (a), (b) and (c) (4) (b), (c) and (d)
(Bod Hovedn HdRDoWL»
(a) ©& (b) TSo¥s548 (c) Dadogo (d) &*csodoem
D 8S® 2 989 Hoved
(1) (a) S06030 (b) (2) (b) L0805 (c)
(3) (a), (b) B850 (c) (4) (b), (c) 220050 (d)
150. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
g8 75K e85 a0 g STEody a5 B S J°s°¥od0
(1) dapdon I°s°(Fado (2) &RYS Is°(¥%0
(3) Sommrs Ise(f0s0 (4) >ELED Is°(Fo%0

151. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?

(1) Apatani (2) Munda (3) Santhal (4) Jarawa
8o BHYS D BHen Fod FOS (FoEFd ©odErS-08 Foc® sHTIH?
(1) ©dz° (2) Swodk 3) Dosgd (4) =oae

152. Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
(Bod &ES® Db DBy PEE WES g go 5
(D) @5555 EE e (2) g8 J8gHee 3) @%8%36@50 (4) o888 0%Ek0

153. Read the following statements
(a) Infant mortality means the death of a child less than one year of age.
(b) %)nlt:taﬁlt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(c) Poverty of the family is the only factor, that contributes to infant mortality.
Which of the above statements is/are correct ?

(1) (a)and(c) (2) (b)and (c) (3) (a)and (b) (4) (a), (b)and (c)
[Bod (HSBBImen SEado

(a) 3% Hoderor WM VoHEYEo YO HoES 9D ot do

(b) 1000 zdsrods® fooéégéoég@ Ao Yo Voyg wgrdon 3 o Dopgldo
SVCReRNESjLeN)

() %o “wE0¥o a8 T 3%H JdoredH s°Emo

D (DI TSd00s® 20/2D Jeo?

(1) (a) S0803» (c) (2) (b) 2008052 (c)

(3) (a) H06030 (b) (4) (a), (b) 308030 (c)
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154. Match the following
List-I List-11
(a) Golden Fibre Revolution 1) Fertilizer
b) Gray Revolution i1) Onion
¢) Pink Revolution ii1) Petroleum products
(d) Black Revolution iv) Jute production
B SEDHBHBX0
eI eIl
(a) omd D% dHdo (1) AdodHeo
(b) &S Joih QDo (i1) & csoen
() Hoeord oM dvdo (iil) (&*Oso0 EERESEEH
(d) S0 ddHdo (iv) 2% ]

| ((a)) ((b.); (c) (.d))
1 111 1 1
Ez% Gv) () (i éiivi)
3) (i) Gv) Gi) ()
4) (v) (i) @[ ()

155. Match the following
List-I
(a) Zamindari system
(b) Drain of wealth
gc) Mahalwari system
d) Rythwari system
2 & DBBodw
eI
(a) 2oomd JEeddHw
(b) (dardrom Fdo &0
(c) HobrSad B g8
(d) Bergd vE&
@ O © @
(1) @) (@v) (1) (i)
(2) M () (i) (1v)
(3) (iv) (i) (i) (D)
(4) (i) (@v) @) (1)

List-11
(1) William Bentinck
(i1) Thomas Munro
ii1) Lord Cornwallis
iv) Dadabhai Naoroji

At |
(1) DO Bo§
(i) %o H&
(iii) or§ 526 O
(iv) ororeron 3°6°e

156. Consider the following statements about key features of ‘100 Smart City’ project

(a) Automatic traffic signals

(b) Better public transport facility

(c) Face identification system to catch criminals
Which of the above statements is/are correct ?
(1) (a)only

(3) (a)and (b) only

0B [HBT5B000 HOEOODoE
100 wos s dHoce’ (a§ Sngg o oo

(a) ©gosoo IO (&rHE Ja%o(Ben FOA Godwo

(b) &5 (Herdarn JEorgorodwo

() S0y H80T P H00wD) HHHS EOA wodwo
D (D3T3 I00S® O/ Jeo?

(2) (a), (b)and (c)
(4) (b)and (c) only

(1) (a) d(&o
(3) (a) Ho005%2 (b) B (&0

(2) (a), (b) %2805 (c)
(4) (b) %5605 (c) Ho (&>
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(a) The first hour of every parliament day is reserved for questions

157. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(c) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(Bod (DHWIL0nen Wdoa)Lm

(@) (98 %> rIdTood JodE Hod DHoko (DT gSdwe YL Twronow &od
(b) FERoowd Fodrrdreod® rEdTY Jogn v )dn Hrdg dob’ (£6° wdd)
(€) 5°8gREgwrE WIgo D I°gas Vao(Eem VT e I°gOs0 0d HWIBH
ISHSESIRSESSLIARMNRIRY

(1) (a) dzo 52 (b) H20605» (¢) @0 SBHy

(2) (a), (b) L0605 (c) @0 @fbl METe

(3) (a), (b) $2005» (c) @0 @y DYy

(4) (a) $20052 (c) @ Dy HH0B» (b) Jzo

158. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(¢c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and(c) (3) (d)only (4) (c)and (d)
8 Do(@0 §°F ‘Trgod HwE @550 DN $0d. ok DWE e

(a) o°Q9 zmé’sée @dog@ééo bg 0B o

(b) %00(8%508O Voo s HDAF oWE0

(€) 2°88 0P 9Hd88 Vol adgdo

(d) =03 °p IrHoVS Igre, 5°8gR0 g E Fog ST orezrgod C@Sé;éo VgonoBad
ISHSESIRSESSLIALINPIRY

(1) (a) $0860%» (b) (2) (b) %8050 (c) (3) (d) Sor(EFo (4) (c) 0805 (d)
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A

Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case :  Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod &S T wd 6?2

(@) 2.8.08. = SGrd ez gD LIRS X)G?g@ DHoVS dookos® Y ISpdsep XS
(b) Dy aregdn . Bo(& o°R9 Do ogren

(c) mobo BHEI Tewgdm DB (TH0S® BT TrEnp e

(d) Eo28 voh armgdn D Boarddo [SARYACS

Correct answer is
D35 Ddrerddn
(1) (@ (2) () 3) (© @) (d)

160.

Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and (c) (3) (a)and(c) (4) (a), (b) and (c)
Bod (PdSdI0o HBLDoWHE

(a) DS &% NErgS Horen H00in RETFSS Bifo g% S 1992 éoéégdéw@s
Aoy B &od

(b) 65% orergod B8 argoe Bodes & 0% RErgS Horo HOb wdrgd Bio
EH S DU"Q(‘?JD D% &od

(€) er@0% drgd Horo HOBH WErgd Bho LHVS IndE B . TS,

[SARSSENICT: 20
D 3DYS (DI SII00S® 28 HTIO
(1) (a) $206050 (b) (2) (b) L00605» (c)
(3) (a) $0605» (c) (4) (a), (b) $0805» (c)
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161. Consider the following statements

Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and(c) (3) (c)only (4) (a)and(d)

[Bod (HSBSsmen HBEDoSoR®

"'©08S 356" (H5°80 a8 00908 wdghdd H8PB 28 HoLETH0 LoD Ao 00

(a) & o°R90S® BDHFD HOP KT © oG9 r8°8 D00 BH D

(b) U%&joé% F°08 P (BEoo 9SS’ TH 158)8 AgrooWH B

(c) e cr"fg;oé% e:ﬁoo@ AV Fwo VEgWr oo éé}éoé’b‘ AV Fo vopoo ?Dg%)oéé@:éo

(d) dg&o( 558D S TONISHIS A T@go@% @Léé@?géo@o Koo 05 0rR 9D
Bodyh BoSHT |

& @32575262533@@5’8 DB/AD ez0?
(1) (a) X)PLéﬁo (2) (b) 006030 (¢)
3) (¢ EérLéTago (4) (a) $280%» (d)

162. Read the following _ o ) ) )
Afnﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and(c)

(3) (a), (b)and (c) (4) (a)only

(Bod (DHEILwen KoL

2.8 ocefad @"@ § Bohd 7705 Dby (§ob Xa@?ge‘éoeé”s E5 IS DPgE g8 wddacko
)& E.

(a) &3 FQ H08 WA DHTID P&

(b) &35 8D észﬁaodom HSO DEID b

() 835 rd 2dIvd IBH ég@ééom TR VPSS Ln JNIDVpd Too Jalea=1o)

®0NID P Kd
D (D3T3 300S® O/ Jeo?
(1) (a) 2805 (b) (2) (b) %6052 (c)
(3) (a), (b) H28050 (c) (4) (a) S (&
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163. Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BAFES (A) @ TH0S® &I8S° Ho @ 7Ry VOTOIT $T) whse o FEFoEH
e d.

o0 (R) @ o9 20 God STy Deods Bdeo orag VFS'T (HTE DB T,

Ddrprdo

(1) (A) %8052 (R) @ Bodo Jdzo 20050 (A) 8 (R) H8 B0 e

(2) (A) $0050 (R) @0 Bodr dzo 570 (A) 8§ (R) H00Hd dH8es 5°¢h

(3) (A) Q=0 (R) &by

4) (A) &5y (R) Qo

164. Read the following
(a) The provision of All India Services are explicitly stated in the Constitution of India.
(b) The provision of National Development Council is not stated in the Constitution of India.
(c) Stamp Duty is levied by the Union, but collected and appropriated by the States.
The correct answer is
(1) (a) and (c) are correct but (b) is wrong
(2) (a), (b) and (c) are correct
(3) (a) and (c) are wrong but (b) is correct
(4) (a)and (b) are correct but (c) is wrong
(Bod (DdVTred WhHHn
(2) ©o g Bogwe I ogden Frdd orergodods® dyhom w8y TS
(b) w@oﬁri)ég@ $080 (HFBS PSS orargofod® T
(c) FoR g To(o DGV08, Trargwr G HHrer BHED DVTITA0BIE Do
DB war o
(1) (a) 20052 (c) dz=o 57 (b) Sy
(2) (a), (b) HS000%m () @0 Jdeo
(3) (a) £2005» (c) @0 Sy 570 (b) 2dy
(4) (a) 20052 (b) @ 2By 570 (¢) Dy
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165. Conventional energy source is

(a) Solarenergy (b) Wind power (c) Bio-gas (d) Nuclear power
TO(DTO AOEFD HIHEH wrdadw

(a) drsg 3§ (b) 255 48 () ®or-nmgd (d) weso %8

(D (2 (2) (b) 3) (o) @ (d

166. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?

(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
88 TR 9HHOS" 570 8 Eigired bo oo od

(1) 2.29. ad (2) A8 bokd TS
(3) =G T3S (4) 6. Togvordod

167. The following states share border with Uttar Pradesh
(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand

Correct answer is

(1) (@), (b), (c) and (d) (2) (b), (c) and (d)

(3) (a)and (d) (4) (a)and (c)

Bod TS* &E8 (HTFE HOTG Ko Targen DD 2

(a) Doerd (b) oredrs (c) WS90 (d) =>go&
DB Ddrgrdo | |
(1) (a), (b), (c) H2005 (d) (2) (b), () $20050 (d)

(3) (a) $006050 (d) (4) (a) Ho0030 (c)

168. The state having largest area of forest cover in India is
(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PESTHoS® ©dgns IJFo wEHe Ko o°h9o

(1) $gg (935 (2) 3o
(3) @&e3SS (HTF 4) Sogd
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169. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
RSP ERSPINY
eI eIl
(T°9e0) (0% Gown)
(a) STk (i) HoFPorh9, Sor oF, .8dJ°), wo(S (535
(b) (8DHS (i) >E8XS, Hodsg (%353, wdory wok 51'88%5, &rorgd 908050 G"ag"’S
(c) Hoere (ili) oorTF, WE*So
(d) Bworre (iv) B8¢ $00050 Eor o¥

The correct answer is
ISHSESIIRSEESLI AL PSS

(a) (b) () (d)
() @Gv) G () (1)
2 O (i) @) (v)
(3) Gv) (i) () (i1)
@ O G v ()

170. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DHWSHweo Edowdw
(a) &% Hode wdHor BodIrS $2005» I8l Hes® )T on
(b) SorsroD wdHes 35708 Soden H0dn SPer THHrPE DEErd [@Podod® EJyJon
(c) S8o wrdETHo Lo0B» T Iredh (Fosred® HgE (o wdHeoa)on
(d) o 85H wdHo Ny rEETH0S® GT°)00
Which of the above is wrong answer ?
D (HIVII00S 0 LDy
(1) (@) ) () 3) © 4) (@
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171. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

POXSS (A) : 1921 morye B o DES H008 oSS THoS® ©d %Lﬁpe@oé R ICY™
égcg NISSLISRIAR
0% (R) 1 1921 Jod8 80 &hard erddTFod® dodere Téw (doom $H0b.

ISHSESIIRSPSSAI~LPVP S I
(1) (A) %8052 (R) @ Bodo Jdeo £$o005» (A) 8 (R) 830 dd5Tes

(2) (A) 00050 (R) @0 Bodor dezo 570 (A) 8 (R) H000S dd8es s°¢%
(3) (A) dzo (R) $dyp
4) (A) 89y (R) dezo

172. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

SHB  0HDHTO0 TEH O BTRY/(F0T) BTS00 ?

(1) 26 8o (2) §*8H0sS 880
(3) TIrISS (HTF 4) D56

173. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
PEFSS (A) 1 éséé@soé”s DEBE DY (DIW0B IBedH By BD.
s8odn (R) @ & %o dorod 20k 9T oo [rBTED.

DTS VIrgrddn
(1) (A) 8050 (R) Bodo Qo 0050 (A) 8 (R) 00008 d58e

(2) (A) 00050 (R) Todk Do 570 (A) 8 (R) 20030 Qe 5°¢%
(3) (A) Q=0 57 (R) 8Dy
(4) (A) 85y 570 (R) dzo
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174.

Match the following
List-I

(a) Banihal pass

(b) Rohtang pass

(c) Niti pass

A

List-11
(1) Jammu & Kashmir
(i1)) Himachal Pradesh
(i1ii) Uttarakhand

(d) Nathu La pass (iv) Sikkim
Ss (808 TP 2SBDNGosw
LA | rda-I1

@) S 5
(b) &erdoh 5
() D& 5

d) Ssoor 9

(1) =0y & 5‘“‘38&5
(i) wrdrsSS (HTF
(iii)) sSorpod

(iv) 280

Correct answer is
$TS ddrgrdo

(@ b (© (@
() @Gv) (@) (@) @)
2 @© @) () (1)
(3) Gv) (@) @@ (D)
@ @O @) (@Gv) (i)

175. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.

Reason (R) : The ports provide access to the raw materials available in the hinterlands of

these ports as well as to the world markets.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
PEISS (A) Pr8STH0S* Y 8 S¥er, HooBon $1008w B3 & THoH wHnH &),
PRE ([@FoTroS® O (FTWE (FoT ey e ©DHYdTomro.

& 68 THoo D FP0E (Foerod® ©hoB & DKo Fodw s
50050 (Do $rT)fod VI8 wloHm &o°)ow.
(1) (A) 08050 (R) @ Tods dzo H$0050 (A) 8 (R) D000 D58

(2) (A) 200050 (R) @0 Bodor Do 57 (A) 8 (R) H00HS Dd8en 50°¢%
(3) (A) Q=0 57 (R) Dy
(4) (A) 5y 570 (R) dzo

sSeobn (R)
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176. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission
0¥ ?oo(“ozrésaémé% riom H000dw 2% DD g 05 IrdldeodH olbenomr @d 8 wo(d
(B85 oy (Debdgo oy Deogisy§ S s % oPeom DgLoNos.

(1) &838, DEHo® H52005» Jo°y 0

(2) &8)8, DEHo° H20B» Dol

3) =o SDCSQ e b Déogéo B850 FE)6 DSogky
(4) Do, %O“’&S@O P08 O30 DI Hor

177. Which one of the following statements is not correct regarding 1969 Telangana movement ?
(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta
1969 Svomren edgnkindsd Do 0HoD & Bod @3265262633065’3 NI~ DOOHIL 570

(1) S8womre L@as@o ey (DO5nE 07 9d0e rHdd (BB)oWI S ¢ A.B. ar@aron.

(2) Soorre (Heeo @*’o@oio vga%0 36"0535 (VDB EoTW &) & (HAIPSIL wohEdoWs::
C.C. Barow.

(3) FEBownd® Boomrn Loacr’;ééoo @ D (HEOID TP $wods Boormrn (Herbdnd
SO0 D0 ao@&ow’@ K. & %

(4) (berdHoo® Sworrwm ﬁcﬁga’)oéwés’o oces§oso DO EHdo s’zéoé’sa_é@oﬁoozéo :
K.L. Hearm

178. Match the following

List-1 List-11
(a) Porakala Dora (1) Shanigaram Venkateshwarlu
(b) Whiteman (i1) Dasari Laxmikantham
(c) Sahu (iii) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
& 1808 I wBHEHdw
a1 eI
(a) 8o &Y (1) #dd8o Boé'&gr‘ésgo
(b) IESrgS (i) ©%d @éés*’oéo
() oo (i) Soary¥ oF 6 oo
(d) o0& (iv) & 0TI JFo LK)

@ b (© @
(H Gy Gv) () (i)
2 G @ (@) (i)
@) @ ) 3G (3Gv)
(4) Gv) G (@) (i)
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179. Match the following

List-1 List-11
(a) Hiten Bayya Committee (1)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i)  Electricity
(¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
S8 (800 TP 2SBDNCodw
At Ao | a1l

(a) 8 dSrg e (i) dS58)Bvoew &835&00 LIPS gdno, Podd
(b) HoA dgrgass e (i)  Dogsy 8
(c) §°T&H ordogyaroed S (i) (Hgh&g Sod BoHed
(d) Do DHoewgo E0e (Iv) &d)8 8¢

@@ b (© (@
H @© (@) (Gv) ()
(2) i) @)  (Gv) @)
3 G @ (@Gv) (i)
4 @) @Gv) @) @)

180. Match the following
List-I List-11
(a) Jai Bolo Telangana (i) Shanker
(b) Shadow lines (i1)) Prem Kumar Aman
(c) Still seeking justice (ii1) K. Chandrasheker Rao
(d) Nyayam Kosam Telangana Nirikshana (iv) Osmania University Forum for Telangana
& 1808 oI wSDGHWokw
AR | eI

(a) 2 &°¢° Boorrn (i) ¥o¥5
(b) & B3 (i) (00 HIr8 wHd
(c) VS “8oh =0 (iii) 3. So[$BE oD

(d) rgosoo §8%o-Boomn 65w (Iv) @@y 05r°RH0 )& P80 HE Bwomre
@ G (@© @
() @ @) (@Gv) (i)
2 O aG) (@>i) (v)
G @O Gv) (@) (i)
4 @@ @) (Gv) (i)
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181. Match the following

List-1 List-11
(a) V. Prakash (i) Telangana Janasabha
(b) Bhoopathi Krishnamurthy (i) Telangana Mukti Morcha
(¢) Muralidhar Deshpande (iii) Telangana Mahasabha
(d) Akula Bhumaiah (iv) Telangana Prajasamithi
& (800 G 2BDBGHUWL0

b ko | eIl
(@) 2. (DR (1) Soomrs 22d v
(b) Frde Eyndard (i) Boomren Hn§ Jord)
(c) $0389$6 TBF>rod (ili) Bwomres HoE8He
(d) eHo grdoasyg (iv) SBoomren (da D&

@ O © (@
() Gv) G (@) (i)
2) @) Gv) @i (@)
(3) @) Gv) () ()
(4) Gv) (@) @G) @)

182. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1) Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge

(2) Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad

(3) Digvijaya Singh, Veerappa Moily and Ahmed Patel

(4) Digvijaya Singh, Ahmed Patel and P. Chidambaram

©wo(§ (TR o°Ry IFad goe eSO HoTIhg DHVgeds HOUHSTE VD ¢
DO EHNIE Sy DI e 3232) VB0 rdd (Dghdgo AK. YY) ©EgEED
o8 E08D Do N0s. & ESSTI dgogen

(1) 6hgad 2of, o8 HBS H0050 Hoerdod o3
(2) ohgmdd oh, 3)653(3333039@ D20 030 Hoerodd) werd
(3) &hgedd Doh, i)dégﬁwooo@ 528050 @Iy 8 HES
(4) 6hgad 2oh, ©oy8 DTS Hr0dsw Do Yo

IS 2016 C 52 G



A

183. Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(c) Gadwal (iii) Bangles
(d) Hyderabad (iv) Handloom Sarees

& (808 TEI 2SDHoWodw

R | eI
(a) LD (1) =2Eé& b
(b) o o (i) &
(c) Hdargen (iil) oreren
(d) Zrdoerd (iv) SIE DS

(a) (b) (c) (d)
() (i) ® Gy (i)
2 Gv) (D) @) (i)
¢ O G G (@v)
(4 G - Gv) (D) )

184. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&gl SoHod® Boomn (Fozed8 wd) ErHod® E0y0F & SEmen 1980 &0 § Hrdo
DHO HEH wdoend® Gowron. 520 Zedorerd 000k v8omrerd @od DREI0OS® Hro(BHo
©d 1977 &0 & drdo VDD K8 EérLé?ﬁ’a wHos® Gotron @ BOD DKo

(1) =& drero DEE0 (2) on Jorg dP¥o

(3) ©Po BE adjodo (4) DoddrE DEEo
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185. Which one of the statements is not correct ?

(1)
2)

)
(4)

Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under
the six point formula and Presidential order.

Kamalanathan and Umapathi Rao were the members in the officers committee.

Abdul Khadar, a senior 1.A.S. officer was appointed in 1985 to scruitinize the officers
committee report.

& (300 EgIWOS® O HOTHIO 52K

(1)
2)

3)
(4)

08 371 ‘&7 (H5°8d» wo(§ (HTIS® TS HgHY o yew @000

@8 drEro HEEo Hdadn O"X@ljé@ x%édosoo L%goipoééséo DS BOS0LE @0 (&
(PTF (Dehggdon 2byrds TG G 1984¢° JonoDod

EHoTES 0N SITHBTRO wHDEY ENG S Dehges

ea%pfogb E0¢ ©0b0DS ITHES H03DoBowE 1985¢° ® 29 rib oo 200056
0.0.00 @58 J%N0S B>

186. Match the following

(a)

(b)
(©)
(d)

(2)

(b)
(c)

List-1 List-IT
My Telugu Roots : Telangana (i) Nalamotu Chakravarthy
State demand — A Bhasmasura wish
Battleground of Telangana (i1)) Gautham Pingali
The fall and rise of Telangana (i11) Venugopal
Telangana—United Andhra Illusions (iv) Kingshuk Nag

Ss (800 TG DS

e -1 D11
0 B Srdy 1 Boomrs QE (i) So3rd FES50
GBr0b-2d FIPd dQ
g (TPob ©d Bwome (i) A°go Dor®
& &S ©o& T wh Bwomrs (iii) SeofrS
BoOoMrn-BNIBE @o(¢ B0geE) (iv) 80A%0E oh

(d)

(1)
2)
)
(4)

@ & © @
(v) G (@) (i)
@ @) @) (v)
() Gv) G (i)
(v) (i) (i) @)

IS 2016 C 54 G



/oY

187. Arrange the following statements in a chronological order

(2)
(b)
(©)
(d)

& (808 TG (adriemomr @26365?3059

(a)
(b)
(c)
(d)
(1)

)

Declaration of K.Chandrashekar Rao Fast unto death.

Telangana March to Necklace Road.

Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

3. Fo(BRE ord) wHln ITTERE (HELD

380 6°6 8 Boorrm 56

(& §°Sodoro emonod wES Ed (JAC) EQg38m Josrdogdn
20008 ©ES NG H0d Voo THo r§ Ryl

(2) (@), (c), (b), (d)
4) (@), (c), (d), (b)

(@), (d), (b), (c)
(b), (a), (d), (c)

188. Match the following

(2)

List-I

Goreti Venkanna

(b) Nandini Sidha Reddy

(©)
(d)

Guda Anjaiah
Gummadi Vittal Rao

S8 (808 3°Q 22BN oodw

(a)
(b)
(c)
(d)

(1)
2)
)
4)

Rt Al |
53¢ BEERS
$06Q Do TG
febate @)o&oﬁog
HH & DES o°)

@ ® © @
@ Gv) @) ()
(i) @Gv) Q) (i)
(v) () (i) (i)
() Gi) () (v

(@)

List-11

Ayyoniva Nuvu Avvoniva

(il)) Amma Telanganama.....
(iii) Palle Kanneeru Pedu Thondhi

(iv) “Nageti Sallalo Na Telangana.....

eI

() oB/orgds HodHg ol

(i) odr) Bvomnddr)..

(i) B £ % &8 0d

(iv) "ohE FYYS' > Soomrn...”
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189. Match the following

(a)
(b)
(©)
(d)

List-1
Dimsa
Adrak ke Punje
Perini Dance
Pittala Dora

St (808 dPAQ 2SBDNGodw

(2)
(b)
(©)
(d)

(1)
2)
)
(4)

EatAlacat |
AR
o35 B Do&
08 @)
Pho &Y
(@ (b () (@
(i1) 1) (@) (iv)
1 @Gy () (1)
(1) (1) (1) (i)
@iv) (@) () (i1)

List-11
(i) Babban Khan
(i) Gonds
(ii1) Fastest dance form

(iv) Budiga Jangalu

eIl

@ R WS

(i) A*oddoen

(iil) SAH0ERD Sysgda
(iv) o&¥ eomren

190.

Match the following

(a)
(b)
(©)
(d)

List-I
Ramlingeshwara Temple
Erakeshwara Temple
Sita Ramaswamy Temple

Venugopalaswamy Temple

Ss (800 7,8 wSEDHSWD0

(2)
(b)
(c)
(d)

(1)
2)
€)
(4)

Rt Al |

Téo@oﬁ%sd GO O00
Qdér‘ésd @O0
{’o@cr’zéoiﬁ’sé’b GO O30
B FoIgN 0080

@ & © @
(v) () () (i)
(i) @) () ()
(v) Gi) () (i)
@ @) () o (v)

List-11
(1) Dichipalli
(i) Kondaparthi
(iii) Pillalamarri
(iv) Nandikandi

Akl | |
(i) &0Hd
(ii) §°0&Do
(i) D0
(iv) S0b&%o0d
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191. Match the following
List-1

(a) Mannemkonda Jatara
(b) Durajpally Jatara
(¢) Siddulagutta Jatara
(d) Singaraya Jatara
&s (808 TG wSEDHSHWD0

-1
(a) HoI[)o80d =&Y
(b) oD rEd
(€) Doy =Es
(d) Dororcdy sy

@@ ® (© (@
(H @ @) @ (@Gv)
(2) (@) (@v) () ()
(3) @Gv) () (i) ()
@ @O G (@Gv) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(iii) Anjaneya Swamy

(iv) Lingamanthula Swamy

a1l
(1) oég SELOT I g
(ii) i’o?g%cgcﬁé"’cgé)o
(ii1) &902330‘503?33)0
(iv) ©oifdoodoroIgad

192. Match the following
List-1

(a) 9" month of Islamic calendar

(b) Moharram

(c) 10th day of 12th month of Islamic calendar

(d) Milad-un-Nabi
Gs (808 TG DD

LA |

(a) aFrn§ s7gBoKd &y dd Jo

(b) Bée(So

(€) aFrn§ s7gBodd DT ok

TS HSS &8
(d) Do & 39

@ b (© @
(1 G @ (@) (i)
2) @i Gv) G @)
G) © aGv) G (i)
4 Gv) @G) (@O (i)

List-11
(i) Prophet Mohmmad’s birthday
(i) Bakrid
(ii1)) Ramjan
(iv) Shiyas
eIl
() DoHey8 (D8 =d880
(i) (8&
(i) Soers
(1v) 0o
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193. Which of the following is not correctly matched ?
(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik
(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao
(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu
S (800 aS® DO VOTPD @l 52
(1) voerd SEHHo Ford D& — Boddg 7058
(2) T8 25 THye FPord DN — JoEF ducHdrE T°6
(3) $TS THye Jorw DN® — S A SdyodocD
(4) o8O ¥y o Ford VN — Yrovd doen

194. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning
(3) Digambar Rao Bindu — Home
(4) Shanker Dev — Education and Village Development
1952 &° 2888 o TRE)aroed) 2o(@ HEINIEH Do 060D DD I 2 20?2
(1) w0 S woh — (Derdiigdon, (Herddoo
(2) Qo. V) BE — HgII B0 H8 S0 (D
(3) &do Bord) Dok — wodIohE HgdhTPore
(4) %086 BS — esg H28 T3 (o @é}ég@

195. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted
that “Culturally Vishalandra was already a reality”.

(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao

(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 28 Hrd50s® 2005 Beoth rar S8 HIrITI8 wPgEd HIrdr TPod) y@%om
DForo($ ¥ rddm ad BT HarFod.” ol FgergdoNod.

(1) §ow Vogd Somr TE (2) o cEyarorD)

(3) Sordare Trdodoosord) (4) Hoododne S8yororD
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196. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?
(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji
(3) S.Nagappa (4) K. Rajamallu
1963 &° 28BS HoLHTE (Heb&gindd H3BTI: “wo(F (Hehsgim, Bé@ (Db Sgd00,
Bé@@ §°8% Hodosm 8%@3” M) w"sspﬂ’sibo{’,)o&
() 8.5 dorofy (2) Fom 0f5 e
(3) 2. AD) (4) 3. oo

197. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to

(1) Backwardness (2) Development

(3) Disintegration (4) Internal colonisation

oral9o YBE Defed ENHS Hwody o $0d TohdHer e 2N @Y (PR (D5 ED0
D)0 Tood wogerod [odod” TwE ¢ (osHd Irdowrd orRgdndy ORI
©d @od%om &8 0 BBNBY raowd.”

(1) Jdoeren S350 (2) @@ég@

3) DDQS"QJ‘O% (4) @088 H0dH

198. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) G.O. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

&3 (800 (HITI00S® & HTHO 5°%?

(1) DG Hododve 2dyoddn (H5dHn FIhgdhhd® 28HS Th Jdrdsod) aoey
@"@é&§3 2 ofozron.

(2) 2.4. 0. 610 H %o TN0d 0°HIHB SE L0 ©HHS® BEHSS) FEF YD
Q000 Svormrn (DuOH 2EHHSIS) @I*gAHNO I Q603 Q& 5.

(3) & HJoRe wHHodHn (HstYDH ovR Y 51’55)3&5@3% gl (FJroered w0 (F-8wonrs
(Pozro 08 Hoo(@ Do 50 : 50 Dﬁgé’}oeﬁ% Gowd.

(4) 1953 &° a8 (Dghdgdn aRd Hud ©d JEHEgos® chodwe PIG Fed
RS0 Jo%oVos.
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199. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao
(3) Devulapally Ramanuja Rao

2
“)

‘DerS HBE Benth (HBE D IELEM o0& ?

(1) Srooce §846 oo
(3) THOBO ordrdieod)

2
“4)

Dasharati Rangacharya
Adavi Bapi Raju

oPEEH Cﬁomwéoge;o

g PP ore?

200. Match the following

(2)
(b)
(©)
(d)

List-1
Leader
Jai Telangana
Tenugu Vani
Telugu Gadda

& (800 7DD wSHBEN

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

eI
O&8E
@ Svomrm
Bl el
Sty o cé
(@ G ( (@
(i) (@v) (@) @)
(ii) 1)  (v) (i)
(i) i)  @Gv) @)
(i) (i1) 1)  (iv)

(M)

(i)
(iii)
(iv)

(1)

(i)
(iii)
(iv)

List-1T

Mamidi Ramakanth Rao
Munir Jamal

P. Janardan Reddy

S. Satyanarayana

eIl

ST FHrsPoSorD)
5008 adrd

2. aa"gS CI)

DD. éésa"woﬁom
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